1
1
Uae notis nstotisn, ncluding. neduction to aimploat gonm i
Diside o gusen. quantity inte twe parta. i o gsen. pard: pod. o pat: whele notle :

Ratio and Propontion e

§

Represertng aratio  oreweny5 bos there are 3 9" i reprserts the 5 boe Doubl Nrber Line. |

I The & the “whole” — bous and gk together : :
1 | | Thsste

“whole” — |

bos ond ok |

together |

|

|

Ratio — a statement of
how two or more
numbers compare

Equal Parts - all parts

] [ \ I T ] 1
in the same proportion, l_'_ Ths represerts the 5 bos T represents the 3 arks This represeris the 3 gk

|
I |
| |
| |
I |
I |
| |
| |
|
I or a whole shared ~ , ——————————— |mm e e ekl -
11 . | . . " ( " ]
I equally 1| Order is :| &'!H‘Qﬁa ratio Carcel down the ratio to s owest fom ||R'ﬂt’D n for n |
R . The & aeking yow to carcel dovn ol the part
: Proportion - a 1 : “For eveny dog there are. 2 cals’ |I “For eveny & daus of rain there are 4 daus of s i L dted vepecents | e
statement that luks 11w poscas N 1 O FT— '
I fwo ratios ' - | oq O | et 1 gy the ratio 420 nthe oo n | |
y | Tl 025 NlD &
| | |‘2 |I M T ports of the rato I Tre S |
| Order - +o place a - oy rma l fan an ., 4:20 o I
namber i a determined 11 The radio b fo be witten n the i! FrGad4te ot | || Saepa ' T |
I cequence (| same order ce the niomatens || [I1] LT | factor bumber [l tept Yot |
1 I | en I | 3‘ Dj D] mubpies e them e A 1] ﬂ“hu |: ) keepin |
| ’P?/]If‘ll‘ - a section of a I : 24 2 | would represent . dogs for :I ) ) [ nwnﬁm |
1 Who € every | cat X - I ’ |
fL————— S -
: Equivalent - of equal 1 |Units are important:
I V&i[M@ 1 |Wwhen Ena a radio — o pats shood Be n the same wils
| Factors - integers e 1
| that multiply fogether 11 Sharing a whoke into a given ratio !! I |
to get the origival 1! TS Il I T ts |
I valde I s ondlysare £330 mthe rdio 34 (1| de abor we bhe ard red pers m the o 51| 1 Trees Fowers  —— |
1 \ | work auf, how much each person edns N K there are 10 red pere bow many be pers e | | ] 5 _ 7 E |
I Simplest Form — where | Modelthe. Question Jornes Il these? I : |
| the J-i{CF l/mms been used 11 s Ly —_— 1| Fogelthe Geston N I I
to reduce the ratio. | I . 111 ann M e peng I |
U £ach part of the ratio | | . (L] £350 || Bhe -Red I I
I vow does not have a :I 5:4 — I 5 E:D:D I Va \
I common factor larger P! Lucy Il ' oI oneunt | ] e of purts of mgrop 3 g |
1 thau1. " Iﬂﬁyjﬂ.mhm £350- 7« £50 ” I:I:ﬁl;f;: Red pere - K pens H Telal rurier of pars o —:
| '..fLIF_’l';ShT.'J ;m bezen D ’ E;;y I I A |
) : Put back o the question eo ports 3% Foer parts Tm
I 13 Jmes, % Lucy ” Bue.pers = B x 10 < 20 pens ” l Tree prts 3 + e pats 7 - 0 | :
Put back into the qestion Bl fed — Y e Y O Tt
| es - 3x€50-£50 || '
. N JAES = D x £ alll This diagrai
l NATES IJCL] n ” % 10 5 l @ H_I—I_I_I : \ SM:;S fge ’Zo\daw
| | | | fa— Ratio’. Can you
| x50 3 4 % -} ;_’)5,:” 50' [0 Fed penz = |x 10 = 10 pere : research it to
| |
| |

find out how this
| -
. R works
Oy l[amimet | P (1| Fmeae
L - = d

Question 1:  Jake is making scones.
Here is a list of ingredients to make 8 scones.

4 egg yolks (d) 3 people? (e) 6 people? (f) 10 people?

' 8 Scones Decide how the duantity of scones has changed from the recipe into
H 200g flour How much of each ingredient would be needed to make: how many Jake wveeds +o wmake each time. E
E 30g caster sugar @ 16 ) b 4 " © 2 . E
1 a scones’ scones? C scones? . .. . 1
: ?39 bI”H_I” What do vou need +o multiply or divide each gquantity by? '
i Oml milk (d) 40 scones? (e) 80 scones? (f) 2 scones? 1
i legg :
! Question2: (Chloe is making ice cream. where the vew quantity isn't a multiple or factor of the original
! 45'” is using the recipe below. duantity, express the change as a fraction... !
: serves - ’ :
E ggg:: :.?:fle i How much of each ingredient would Chloe need to make enough for: 6.? For PalH’ (i‘) C'/\]CIOG m@eds fo aITGr Iﬂ/\c Y;GIPG ‘h; 'F@@db% 1;60})[?: Od(/ﬁ' E
! of 4 people. Therefore we can multiply each wgredievt by % +o fin !
' 1209,5051" sugar (a) 8 people? (b) 2 people? (c) 1person? poop P @ K '
: 1 vanilla pod the new amount. E



